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THEX Sy« T - B - HH50 B B B B G = A & # R (GBS
HEHE R
= 1 189, 831, 939
TE T
= 1 16, 207, 656
i) L (ICT)
= 1 1, 239, 560
i (1CT) T FoHRE
m3 140 1,194 167, 160
i (1CT) LAy =7y BEEFEML 5, 000m3
A
m3 2, 800 383 1, 072, 400
23N
= 1 9, 638, 038
A (L) &+ 2. bR
m3 1, 500 5, 539 8, 308, 500
PR (L) B 2. 5mPh 4. OmA i
m3 460 747.1 343, 666
ER LS b CEBL ERIRY L& Te)
= 1 779, 730
FEHIA (h=27) -1+ £50, 000m3 A
= 1 206, 142
B AR £ T (1CT)
= 1 346, 800
PR (L) B - (ICT)
m3 1, 500 231.2 346, 800
B T
= 1 890, 790
PEY N 2. bR
m3 130 5, 630 731, 900
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PEY N T 2. 5mPA 4. OmA T
m3 2 785. 1 1,570
ERESTR T CEBL ERIRY L& Te)
= 1 124, 425
FEA (h=27) -1+ £50, 000m3 AT
= 1 32, 895
R R 1T (ICT)
= 1 2,136, 825
R R (ICT)
m3 1, 400 333.6 467, 040
ER LS T CEBL ERIRY L& Te)
= 1 1, 318, 905
FEHIA (h=27) -+ H50, 000m3 A
= 1 350, 880
R T (ICT)
= 1 1, 955, 643
ETE R (8] 1356) (ICT) VAE D KOS+ R ME
m2 180 784.6 141, 228
B (% 156) (1CT) T T A i oD 6 L
m2 3, 650 497. 1 1, 814, 415
Mgt R T
= 1 123, 939, 433
B IR 22 E AL B T
= 1 9, 469, 029
L2 TEALER 0. 6mPh T [E{LAF100m23H 7= 0 i
B 1.8t/100m2 iV RELA 4
t=30cm AR Tvay
m2 1,410 886. 9 1, 250, 529
L2 TEALER 0.6m%Z 2 ImEL T [E{bAF100m2 &
720 R 4.9t/100m2 iV hR[E
t=70cm et Fegk LA Tvay
m2 1, 850 1,578 2,919, 300
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L2 TEALER 0.6m%Z 2 ImEL T [E{bAF100m2 &
72 VAR 6.3t/100m2 iV hRI[E
t=90cm et Fegk LA Tvay
m2 2, 880 1, 840 5, 299, 200
:hL
= 1 110, 977, 804
A7) -FE R $ 2200 FIR%E15. 0m HTE11. Om
EmARE LM M7 0.3t/m3
(TYPE1)
VN 26 441, 431 11, 477, 206
A7) -FE R $ 2200 FIR%E14. 0m HTE12. Om
EmABE LM A7 0.19t/m3
(TYPE3)
VN 165 335, 608 55, 375, 320
A7) -FE R $ 2200 FIR%E22. 0m HTHE:20. Om
EmABE LM A7 0.19t/m3
(TYPE5)
VN 54 615, 069 33,213, 726
A7) -FE R $ 2200 FIR%E22. 0m HTE19. Om
EABE LM A7 0.24t/m3
(TYPE6)
VN 16 681, 972 10, 911, 552
HEH e
= 1 3, 492, 600
B 75 AFVHE T O ALE]R
= 1 346, 200
ER LS b CEBL ERIRY L& Te)
= 1 2, 488, 500
FEHIA (h=27) -1+ £50, 000m3 A
= 1 657, 900
Al T
= 1 26, 538, 185
TAT7 V%S T
= 1 26, 538, 185
FJE B (i - BT E0) RC-40 t=150mm
m2 4, 950 568. 3 2,813, 085
b A (E - BT ER) M-40 t=150mm
m2 4, 950 940 4, 653, 000
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8 (H5E - BFE) @MU EET 23 (20) t=50mm 3.
Omitd
m2 5, 380 1,538 8, 274, 440
e (H3E - BIFE) ©# ki FET 22 (F20FH) B A t
=50mm 3. Omi&
m2 5, 380 2,007 10, 797, 660
AnT=h 1L
= 1 1, 778, 300
7" VR AMIVN = I
= 1 1, 778, 300
7 VEYANE A BX (P600) -Sa1-B1000-H1000
m 20 88,915 1, 778, 300
Pk A& T
= 1 12, 153, 297
EE LT
= 1 66, 384
IRIE Y +Hib
= 1 38, 760
B L +w
= 1 27, 624
LI
= 1 5,478, 833
7" VERA MU PUT-B300-L2000
m 489 9, 169 4, 483, 641
7" VERA MU BF- I -B300-L2000
m 74 6,423 475, 302
AV 25 CT-B300-L500
e 245 2,122 519, 890
BT
= 1 15, 968
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IR E VP D300
m 2 7,984 15, 968
A KMk k- T
= 1 133, 658
BUGFT B AEAK MBFE 18-8-40BB W/C=<60%
T 2 45, 610 91, 220
* MSGT-500-500
e 2 21,219 42, 438
HEAKT
= 1 6, 458, 454
fEPEAK BF-B300-L2000 Y4y M+
m 822 7,857 6, 458, 454
(e ZEHn
= 1 209, 496
fo N
= 1 209, 496
TAN-7" OHIRLET 22 (5F) 195cm2 L4 215
cm2 A
m 168 1, 247 209, 496
X R
= 1 580, 674
X R 1
= 1 580, 674
VA b =X X R RS TE) EH 15em JE 1. 5mm
ok M4 fe
m 1,620 296. 1 479, 682
VA b =X X R RS TE) R 15em JE 1. 5mm
ok M4 fe
m 320 315.6 100, 992
o5 3 A L
= 1 6, 233, 392
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FEARI B AT 1
= 1 6, 233, 392
= -7 iR H R Ge-B1-6E 18-8-40BB W/C=60%
VN 4 222,948 891, 792
AR Ay Ge-B1-6E
m 607 8, 800 5, 341, 600
EEWE T
= 1 522, 606
B3 3 A 2= 1
= 1 220, 688
A AN % &
m 208 1,061 220, 688
S EUE L L
= 1 100, 410
av)) - M IS BUE L TR (BRE) ARG T
m3 9 7,614 68, 526
TAN=7" 2= 15em% 8 z2 40cmPl
m2 61 522.7 31, 884
TE AL T
= 1 201, 508
PR aukiil TAT 7V bk
m3 8 3,426 27, 408
PR aukiil TR (8R55)
m3 9 3, 639 32, 751
AL Gy TAT 7V bk
m3 8 2,570 20, 560
ALy TR (8R55)
m3 9 4, 557 41,013
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HIS 364 SR =N =7
= 1 79,776
% T
= 1 1, 668, 900
RIEE T
= 1 1, 668, 900
RFE AR B
= 1 1, 668, 900
EPE T H R
= 1 189, 831, 939
B T ¢
= 1 36, 131, 231
BTl TE:
= 1 18, 342, 709
T
= 1 15, 552, 468
TR A LY
= 1 618, 714
T RR A oy AR ST A
= 1 14, 933, 754
HTE
= 1 1,177, 826
PREFE B (ICT)
= 1 46, 406
VAT LRI (ICT)
= 1 1, 044, 560
Ay b R BREE T 5 R 5546 51 HEBR
= 1 33, 265
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T B R FEART - ERRE
= 1 53, 595
BUGERRYCEE (K5 1)
= 1 1,612,415
HimEpE (FE L)
= 1 17,788, 522
g
= 1 225, 963, 170
BTk Xegiiv oy
= 1 67, 376, 899
R 5]
= 1 293, 340, 069
— R RS
= 1 42, 869, 931
T HAlik
= 1 336, 210, 000
THE B 2 %8
= 1 33, 621, 000
TG
= 1 369, 831, 000
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